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SOCIOLOGY
HHS I

Paper-111
weaA-111

Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.
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37T 52 T oyl Feen o STER 3T R |
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SECTION -1
Tgug -1

This section contains five (5) questions based on the following paragraph. Each

question should be answered in about thirty (30) words and carries five (5) marks.

(5 x 5 =25 Marks)

T T H HEfeiad S W SR Ui (5) 799 € | Weish U9 o STR o9 o (30)
I H SYURIT € | Uedkeh U9 Ut (5) SR H1E | (5 X 5 = 25 37F)

Read the following passage and answer the following questions :

What Durkheim attempted to do, then, was to provide a cogent rebuttal to both the
Marxian position, on the one hand, and the Comtean position, on the other. To Comte he was
willing to concede that moral consensus was one precondition of social order ; but against
him he argued, in this work, that the division of labour need not lead to dispersion and
conflict of interests. There were other, non-moral conditions that were at least equally
important for the establishment of solidarity. The development of science and industry,
permitting an increasing interdependence among individuals and groups within society as a

whole, could serve as the objective basis of a new and higher solidarity.

fifere uitess ufgu ik T feu wemt =1 ST i

TEM 7 TR, T 3R, ATl Rt 6, 3R et 7R, e Rfd i, Tk e UeH H
T H | HIE B, A Tg TP 3 o gegeh o 1o AT Tt it e st gd I off ; W
I (o, I T HF H g T <, ToF T8 STt el 1oh o Toror fecti o T 3R |ed
3R Vg R | 31 TR-Afe7eh feaferait off STt svaiedn st T & folt 79 & 1 ¥0H 9 § Hewegu! of |
foR 3R ST 1 e, ST TPl TAIT % TR Al 3R TRl o ara gl ge SfareRar
e B ST €, o 19 U 3o STl o SRqURe TR % &9 H 1 T Gohell § |
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1. What are non-moral conditions ?

TR-Afcer feafaat s e 2

2. How does Durkheim’s argument differ from that of Marx ?

T T ek A1 o e § ohg UK =1 8 2
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3. How does solidarity develop ?

ST oh1 Torehr fohd ThR BT & 2

4. On which point did Durkheim agree with Comte ?

Y, T fomg TR 1 o 91 Teud o ?
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5.

Bring out the difference between Comtean and Marxian view points.

FHIATRT 3R ATRISTST ISl o el ST ISR it |

Note :

e

SECTION-II
Tusg - 11
This section contains fifteen (15) questions, each to be answered in about thirty (30)
words. Each question carries five (5) marks. (5 x 15 =75 Marks)
T We | Ura-uta (5-5) 371 & Ugg (15) WA & | U U9 1 STR o9 i (30) vs3i |
TUTRTTE | (5 x 15 =75 3ieh)

What is the contribution of Alfred Shultz to phenomenology ?
TGRS ST I TSR T ht T AR & 2
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7. What is Neo-functionalism ?

FoI-Teh ARSI € 7

8. Discuss the basic elements in Gidden’s structuration.

e o “Ham ME & Tl TR i == & |

D-0509 7 P.T.O.



9. Assess the dramaturgical approach of Goffman.

TIRAA o STMTTI9ITE TRUeS sl TRI&T0T &Y |

10. Describe tribe as a community.

3T Uk T — FU T |
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11. Explain indological perspective of G.S. Ghurye.
ST U5 T YR fore aRkuiesr hi amem & |

12. Why is rate of divorce in Indian society growing ? Discuss.

WRATT GHTST H {oeag o1 TH10 401 ¢ @1 ¢ 2 =l o |
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13.  Explain population as a barrier in the process of development.

“forehTe UfshaT | Tiieh AT Ush Gehlae & — AT o |

14. Discuss corruption as deviant behaviour.

YRR U {aae Sdaid — ==l &1 |
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15. ‘Indian society is neither traditional nor modern.” — Comment.

‘R TS AT IR & AT 3T & — feomft X |

16. What are the challenges of Globalisation ?

ATSRROT T T A & ?
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17. Discuss any two factors responsible for privatisation of education in contemporary
times.

T THT | Trer o fstientor o feu fondt 5 shent ot =i o |

18. Bring out the different dimensions of social inequality in India.

qRA | WIS STEHAT o {1 Tge] ey |
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19.  Discuss civilisational perspective of N.K. Bose.

TH. . S & G URUed shi == |

20. Write a note on Drug Addiction among Indian Youth.

IR et H TR T Ueh feooit ford |
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SECTION - III
Tug - 111

This section contains five (5) questions from each of the electives/specialisations. The
candidate has to choose only one elective/specialisation and answer all the five questions
from it. Each question carries twelve (12) marks and is to be answered in about two hundred
(200) words. (5 x 12 = 60 marks)

Y GUS | Ycih Ui gohts / foreiomie 9 uier (5) U € | 375 ol shelel Ueh Ufeaeh gehre / fertorsian
T AR A H I Uil U] BT SR S € | Tk U9 oARE (12) 37hi 1 € o ST ST T &t |/
(200) IT=T T 3URITE | (5 x 12 = 60 3iF)

Elective I — Rural Sociology
wfs® 1 — arHtT g

21. Discuss the emerging patterns of agrarian relations in India.

ARA | P T Fereli o IR U= ot fererem T Y |

22. Do you think that the Jajmani system has disappeared ? Discuss.

“STSTH! TT 7 &1 718 17 T 3179 U /el & 2 = Y |

23. Examine the contemporary issues of peasant movements in India.
IR H FVh ST H AT T&T Bl W Y |
24, Analyse the role of rural leadership in rural development.

TTHIT oI H ATHOT Aged st fehT 1 faeetsor &L |

25. Discuss the problems of Panchayati Raj institutions.

el TreT HEAT3AT ol THETST bt == oY |

OR// st¥at
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21.

22.

23.

24.

25.

21.

22.

Elective II — Industry and Society
s 11 - 3= e QoI

Explain the classical sociological views on economic rationality.

3TITEreR R/ ek et Weler FeATiehts TSI forami sht smen & |

How do you understand the interaction between industry and society with regard to
change ?

TR & Geig | SENT Uel GHTST o Sie Sicishar shi 3177 ol §He & 2

Evaluate the performance of labour legislations in India.

IRA T HSTGR AT o SIS ST HogwTaT o |

Explain conciliation as an effective strategy for settlement of industrial disputes in
India.

qRA H ST foasT ol fUeRT S H THEAT U YA1aqo] Sh--iid & — sA7em e |

What are the limitations of industrialization ?

STRATRISHOT 2l TR 1 § 2

OR// sgat

Elective III — Sociology of Development
e® 111 - fawra &1 quevne

How can development be made sustainable ?

TSI =l RO She ST T Hehel1 & 2

Analyse A.G. Frank’s thesis on “development of underdevelopment”.

“ITeTeTehTd T fIehI” IR W.STI.Sheh o N o1 fogeioor ¢ |
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23.

24.

25.

21.

22.

23.

How do you view the relevance of Gandhian approach to economic development in
the present era of globalisation ?

PRIl & AT I W ST IR o TEaTal SUNTH il UTEATRdT o SR H SR SR
forem & 2

Present the world system theory as a critique of modernisation theory on
development.

o o 3TTefTehTeRtoT FaET=T ol ST o & | fove sraet fagT= & s/ |

“Ethnic movements in India are offshoot of unequal economic development.”
Discuss.

“YRT | FTATT SR STHHM ST forehr st SURTEn & 1 faer=mr ity |

OR / &tgar

Elective IV — Population and Society
fke® IV — J=EET U6 |0

“Population is an asset not a liability.” — Comment.

“STEET AR € 1 foh g’ fewott sl |

Describe the determinants of fertility.

SR 3 Ui et |

“Education is the best contraceptive.” — Discuss

“f3Te U g e == Y |
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24.

25.

21.

22.

23.

24.

25.

Analyse the trends of population migration in India.

IR | STHEAT Fed & ST 3 fere=T Y |

Write an essay on demographic transition.

SHEAT GohH0T R e ey ford |

OR / &tgan

Elective V — Gender and Society
tfs® V - forr wa wa=

Explain different models of gender socialization.

ToTTT TTSTieRToT & fofe—= Hisel ot same Y |

Define patriarchy in Indian context.

TR T § e i samen Y |

Using liberal theory of feminism elaborate on main points involved in the debate
among feminists.

foTTaTs, ht SIRETET FaFTd i 7Eg ot §U ferTantsa & amg-faems & S W q&i &l == Y |

What are the consequences of development policies on women ?

HiEeAT3T W) ferhre e o1 o grel @I 8 ?

Do you think that the status of women in India has changed ? Comment.

T 3T AT & Toh RIS THTST § AEeAT3Tl ol IR J seete g 2 — ool &Y |
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SECTION -1V
g -1V

Note : This section consists of one essay type question of forty (40) marks to be

qe:

26.

answered in about one thousand (1000) words on any ome of the following

topics. (1 x 40 = 40 Marks)
U TE H U AT (40) 3iehi o1 FHerrees U9 €, 5aeht St ettt fosei & & et
T W T TAR (1000) vr=si o ford | (1 x 40 = 40 37%)

Critically examine the influence of Western paradigms on Indian sociology.

TR FHISTRIE TR AT U= & T i SAT=HIHS S i |
OR/3rgar

Analyse the farmer suicides in India as a sociological problem.

O H fohaml §RT 3TcHEcT o1 GHSIRT GHET o &0 | [I9eis07 hifey |
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